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Question 1

Question Type: MultipleChoice

With regard to OIC Lookups, Which two are valid statements?

Options:

A- You cannot clone an existing lookup if it is being currently referenced in one or more active OIC integrations
B- A custom OIC XPATH function must be used to retrieve data from a look up in the Data Mapper.

C- Lookup values are retrieved from a backend database at runtime

D- Lookup values must include two or more domains associated with corresponding Saas applications

E- Changes that are made to Lookups referenced in active integrations will take effect immediately without reactivating those integrations

Answer:

D, E

Question 2

Question Type: MultipleChoice




OIC is available in two editions - Standard and Enterprise.

Which OIC Enterprise Edition capabilities are ALSO available in the OIC Standarf edition? (Select two)

Options:

A- Process Applications

B- B2B Trading Partner Agreements

C- Enterprise application Adapters (such as EBS, JDE, SAP, and Siebel)
D- Integration Insight

E- File server

F- Visual Builder

Answer:

E,F

Question 3

Question Type: MultipleChoice




What are the three main capabilities of Oracle Integration Cloud (OIC)?

Options:

A- Application integration

B- APl management

C- Business process automation

D- Internet of Things (IoT) application development
E- Web and mobile application development

F- Digital assistant application development

G- Blockchain application development

Answer:

A CE

Question 4

Question Type: MultipleChoice




Which statement is valid regarding Connection components in OIC Service?

Options:

A- All Connection components must be associated with an adapter type regardless of role configuration.
B- Each Connection component associated with a SaaS adapter type will also require a Lookup Component configuration.
C- Connection components can be configured with either a Trigger role or Invoke role, but not both.

D- All connection component configurations require the association of an active OIC Connectivity agent group.

Answer:

Question 5

Question Type: MultipleChoice

You are assigned to review the specifications of the SOA composite applications that have been deployed to your SOA Cloud Service
instance. Part of this analysis requires you tocatalogthe Service Component Architecture (SCA) components that are implemented within
each composite application.



Which is a valid SCA component in an Oracle SOA composite application?

Options:

A- BAM Adapter
B- B2B Agreement
C- MFT Adapter
D- Mediator

E- Split-Join

Answer:

Question 6

Question Type: MultipleChoice

OIC is a fully managed cloud service that provides many components and use case capabilities when an OIC Enterprise Edition instance
IS provisioned.



Which three capabilities does OIC Enterprise Edition provide?

Options:

A- Leverage an embedded continuous integration server to automate CI/CD workflow.
B- Deploy SOA composite Applications(SCA) developed with Jdeveloper Extensions and BPEL constructs.
C- Leverage an embedded SFTP-compliant repository for storing and retrieving files

D- Create digital assistants (Chatbots) and skills using natural language conversations to facilitate integration with Oracle Saas
applications

E- Model and extract business metrics in real time and gain insight into business processes by using dashboards
F- Create blockchain networks and deploy blockchain integrations applications.

G- Create integrations that use B2B e-commerce, which support the EDI X12 business protocol

Answer:

B,E, G

Explanation:

https://docs.oracle.com/en/cloud/paas/integration-cloud/integration-cloud-auton/oracle-integration-editions.html#GUID-ED23D612-B34E-
400D-8039-DBCEF5101AF4



Question 7

Question Type: MultipleChoice

Which statement is NOT true about decision models in OIC process?

Options:

A- In the Graph view, you can create decision requirement diagrams(DRDs) to visually represent your decision model but only one DRD
per decision model is supported.

B- Decisions created using the Function notation return a value only when invoked from another decision.
C- A decision service exposes output decisions of a decision model as private internal REST APIs to the process application.

D- A decision model must contain atleast one decision service in order to be used in Process application.

Answer:

C

Question 8




Question Type: MultipleChoice

Within the scope of an OIC process application, which two statements are valid concerning Decision Snapshots and Decision Models?

Options:

A- Decision snapshots are read-only copies of a decision model.

B- Decision Model can be activated on a Decision Model and Notation (DMN) server.

C- Decision snapshots, once activated, cannot be used independently in multiple applications.
D- A decision model snapshot cannot be deleted once it has been activated.

E- Decision rules are expressed as rows with in a table and consist of only one input entry and only one corresponding output entry.

Answer:

A, B

Explanation:

https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/work-decision-models.html


https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/work-decision-models.html

Question 9

Question Type: MultipleChoice

Which operation is NOT supported by an OIC connection resource configured with the FTP Adapter in the Invoke role?

Options:

A- Write file

B- Read file

C- Delete file

D- Read File in segments
E- Download file

F- List Files

Answer:

D
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